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What is Le-chateliers principle ? Discuss the effect
of pressure on the equilibrium in the following
reaction .

2S0,+0, < 2S0,

df dafee ffaw ¢ €1 59 R @ R
R freifea aramaeemet wR g9 @ fadgaHr
D

2S0,+0, = 2S0;

9. What do you mean by quantum number ? Explain.

Fdicy G&aT 9 39 47 gusid © 2
ATET BN |

ORS3T1A4r

Calculate the number of H present in Imf. of a
solution, whose pH =13 ?

Ud "l fSI®T pH &7 A19 13 € d Sad
1md § SuRerd BISSIVA MU & G&T
T BN |
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2019(Even)

Time : 3Hrs. Sem. I Gr-1/Sem-I1 Gr-I1
Engg Chem.

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |
Answer all Five questions from Group B, each question

carries 4 marks.
qu-B & wft ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |

P.T.O
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Explain why electron affinity of fluorine is smaller
than chlorine . 4

TSV — R TN DY solde Hifa
TN 9 &9 Bidl @ ?

ORS31d1r

Discuss four factors causing pollution of water .

Sl bl UG dAaTd IR SRS DI AT
& |

What is Lubricant ? Write down the main function

of Lubricant. s

igdh 1 2 ? Fgd o & o fad |

ORS31dt

Write down the characteristics of good fuel .

I8 U9 B faRivarg fod |

02010

(i)

(iif)

(iii)

(iv)

3 02203/01103/P01103

frr=fafRaa 9 3«19 sl eSS
21

(31) Fe,0O,

@) co,

(|) Na,0

() CcaO

Which of the following is the most
electronegative atom ?

(a) F

(b) C¢

(c) Br

(d) 1

s 9 feaal faga womdsar 994
I © ?

(&) F

(@) ct

(|) Br

(@) 1

In electro refining , the impure metal is
made :

(a) Anode

(b) Cathode

(c) Both (a) and (b)

(d) None of these
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(xx) TP HIdd NaCl 9vrex 8lIdl ®© -

Answer all

(31) 23 UM NaCl
(9) 35.5 U™ NaCl
(|) 58.5 U™ NaCl
() 37 4 »ig T

GROUPB

Five Questions.

Il ufg gl & SR o

2. Establish relation between K, and K. .

K, 3R K. & 4= "9 wa1fid o |

ORS37dt

02010

4x5 =20

Find out the number of atoms in one milligram of

silver .

e Rreim Riear ¥ gremvpenl & S&an 9

B |

02010

(vi)

(vii)

(vii)

(viii)

5 02203/01103/P01103

o9 fedl o &1 pH 9edr &, df 39

Hid @ OH 39 &1 A=Vl :
(31) dedr &

(9) Trear @

(&) Rer gar @

() 399 4@ BIs A1

The equivalent weight of crystalline oxalic
acid is :

(a)35.5

(b) 63

(c) 90

(d) 126

fopcel sifqsifas sFa &1 JAaqed
AR ¢7 8 ?

(1) 355

(@) 63

(|) 90

() 126

Who safeguards us from the ultraviolet rays
coming from the sun ?

(a) C,
(b) Co,
(c) O,
(d) O,

P.T.O
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(xvi)

S B&Th B AR © :
C)RIGIE

() sHdd

() RS

(€) 37 9 31y &

(xvii) pH of acidic solution is :

(xvii)

(xviii)

(a)7

(b) Less than 7
(c) More than 7
(d) 14

Il fae s & pH &1 |19 8ldr @ -
@) 7

@) 79 ®u

(@) 7 9 STaT

(%) 14

The formula of Copper Pyrite is :
(a) Cu,S

(b) Cu,O

(c) CuCO,.Cu(OH),

(d) CuFeS,

02010

x)

(xi)

(xi)

(xii)

7 02203/01103/P01103

n-eRATS DT P deT G gidl 2 -
@) o

(@) 50

(&) 100

(®) 39 9 BIg &l

How many molecules equal one mole ?
(2) 1.6x 10"

®)1.6x10"

(©) 6.023 x 10™

() 6.023 x 107

fohd= 3] P Ald & SR BId © ?
@) 1.6x10"

@) 1.6x10"°

@) 6.023x 10"

@) 6.023x 107

What is the shape of water molecule ?
(a) Tetrahedral

(b) Square Planar

(c) Trigonal Pyramid

(d) Bent

P.T.O
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10. Write down the name and formula of important

11.

ore of copper. How copper is extracted from its
ore ? 8

qreT & W@ FATHI & M Ud g fad |
dfd @ fFrpdv S 3Rd 4 ¥ &1 )
g ?

ORS31d1

What is paint ? What are the required properties
of paint ? Distinguish between paint and varnish .

9c @1 2 ? UC @ 3IMaead IO T B
afey ? de Ik afFle & @ R @ ?
ford |

Write short notes on any two of the following .

(a) Importance of chemistry for engineers

(b) Global warming

(c) Ionic product of water . 8

fr=forfRaa & & fodl <1 wr dféra fewof
ford |

(31) Pt & foy ™ IR &1 98w
(@) wHvsed amu gfg

(|) Sl &1 IAfTd OTh

P.T.O
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10. Write down the name and formula of important

11.

ore of copper . How copper is extracted from its
ore ? 8

qfeT @ W@ XDl & A UG g ford |
dfd @ Frpdv S 3Re 4 ¥ &1 )
g ?

ORS31dr

What is paint ? What are the required properties
of paint ? Distinguish between paint and varnish .

9c @1 € ? UC @ 3IMaeAd IO FIT B
afey ? de Ik Il # @ s @ ?
ford |

Write short notes on any two of the following .

(a) Importance of chemistry for engineers

(b) Global warming

(c) Ionic product of water . 8

fr=forfRaa & 9 fodl 1 wr <dféra fewof
ford |

(1) srfra=aret & oy ™= A BT Avd
(@) wHvse amu gfg

(|) Sl &1 AAfTd OTh

P.T.O
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